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QUESTION 1

One of the key execution capabilities that Oracle Manufacturing Cloud offers is that you can generate and 

manage work order exceptions. 

Which option shows the production exception types that can be reported by the production operator? 

A. Work Area, Work Center, and Resources 

B. Work Center and Resources 

C. Resources and Components 

D. Work Area, Work Center, Resources, and Components 

E. Work Area, Work Center, Resources, Components, and Miscellaneous 

Correct Answer: C 

 

 

QUESTION 2

A production Operator is executing work order in your plant. After completing move transactions, he notices that he has
performed some incorrect move operations, including incorrect scrap and reject transactions. He is required to perform
a reverse transaction to correct the errors. The operations are not count point enabled and not auto charged. Identify the
four transactions to correct this situation. 

A. Reverse from reject to ready. 

B. Reverse from scrap to ready. 

C. Reverse resources charged to a work order. 

D. Reverse material issued to a work order. 

E. Reverse at an operation. 

F. Reverse the product at the last operation. 

Correct Answer: ABCD 

 

QUESTION 3

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not 

getting transferred to Costing. 

Identify the reason for work order transactions not getting transferred to Costing. 
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A. The Manage Item Rules setup is not complete. 

B. The Costing Interfaced Attribute is enabled in the resource definition. 

C. The item was made inactive after the Work Order transaction. 

D. The Costing Interfaced Attribute is not enabled in the resource definition. 

Correct Answer: D 

 

QUESTION 4

To reduce the subassembly stock with no impact on material planning of child components of the 

subassemblies stock, you need to modify the multilevel item structure of a product. 

Identify the action that meets this requirement. 

A. Change the Supply Type = Push in Item definition and Work Definition, for subassemblies having high inventory
stock. 

B. Change the Supply Type = Phantom in Item definition and Work Definition, for subassemblies having high inventory
stock. 

C. Change the Supply Type = Assembly Pull in Item definition and Work Definition, for subassemblies having high
inventory stock. 

D. Change the Supply Type = Operation Pull in Item definition and Work Definition, for subassemblies having high
inventory stock. 

Correct Answer: C 

 

 

QUESTION 5

Identify the two capabilities that the Application Development Framework Desktop Integration (ADFDI) framework
provides for Work Definitions in Manufacturing Cloud. 

A. You can mass create and update work definitions and their operations, items, and resources. 

B. You can mass create and update work definitions and their operations, items only and cannot add resources in work
definitions. 

C. You can mass create and update work definitions and their operations only and cannot add items and resources in
work definitions. 

D. You can copy work definitions form one organization to another organization. 

Correct Answer: AD 
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QUESTION 6

An order entry specialist creates a Back-to-Back order for product item with an intention of fulfilling by in-

house manufacturing. The fulfillment line is scheduled and Supply Chain Orchestration (SCO) has initiated 

creation of a Supply Order rather than Work Order. 

Identify two options that can cause this situation. 

A. Sourcing rules for the product item are defined as Make as well as Transfer. 

B. Sourcing rule for the product item is defined as Make, but Work Definition is not defined. 

C. Sourcing rules for the product item are defined as Buy as well as Transfer. 

D. Sourcing rule for the product item is defined as Buy. 

Correct Answer: AB 

 

QUESTION 7

Which two steps should you use to create a new Oracle Transactional Business Intelligence report in the Manufacturing
Cloud? 

A. Use ibots to create the report. 

B. Use Business Intelligence answers to create the report. 

C. Use the Manufacturing subject area to select the report columns and create the report. 

D. Use Business Intelligence publisher to create a template and use that template to create the report. 

Correct Answer: BD 

You can use Oracle Transactional Business Intelligence to create analysis and Oracle Business Intelligence Publisher
to create reports. 

 

QUESTION 8

As part of an implementation project, you have to perform setups related to a Manufacturing plant in Functional Setup
Manager. 

What must be set up first in order for you to configure the setup task called Manage Plant Parameters? 

A. The Supply Chain Orchestration Functional Area 

B. The Manufacturing Master Data Functional Area 

C. The Manage Items Profile Options tasks 

D. The Manage product and Child Value Sets task 
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Correct Answer: B 

 

QUESTION 9

Which entity should you use to configure the manufacturing plant in Functional Manager? 

A. Legal Entity 

B. Plant 

C. Organization 

D. Business Unit 

Correct Answer: B 

 

 

QUESTION 10

You are monitoring the production status on your shop floor. The production operator informs you that a particular
resource that was not functioning for the past week is now back in operation. Which option shows the steps to quickly
release the work orders affected by this operation, which were put on hold using the mobile application? 

A. Select the infotile On Hold> Select a work order you want to release> Select the work order operation on hold >
Swipe left on the work order name> Tap or click the Release action, and click OK 

B. Select the infotile On Hold> Select a work order you want to release> Swipe left on the work order name> Tap or
click the Release action, and click OK 

C. Select the infotile Unreleased> Select a work order you want to release>Swipe left on the work order name> Tap or
click the Release action, and click OK 

D. Select the infertile Dispatch List> Select a work order operation you want to release> Swipe left on the work order
name> Tap or click the Release action, and click OK 

Correct Answer: D 

 

QUESTION 11

Your customer runs two daily shifts in her plant: Morning Shift and Evening Shift. A resource LATHE is assigned to the
work center W1. There are five units of LATHE available, of which three units are available for the Morning Shift and the
remaining units are available for the Evening Shits. Which two actions must you perform to associate LATHE with W1? 

A. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 3 against the resource
LATHE in the Morning Shift column. 

B. Select the Available 24 Hours check box and in the Resource Availability region, enter 3 against the resource LATHE
in the Morning Shift column. 

C. Select the Available 24 Hours check box and in the Resource Availability region, enter 2 against the resource LATHE
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in the Evening Shift column. 

D. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 2 against the resource
LATHE in the Evening Shift column. 

E. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 60% against the
resource LATHE in the Morning Shift column. 

F. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 40% against the
resource LATHE in the Evening Shift column. 

Correct Answer: BE 

 

QUESTION 12

You are in the process of defining a Standard Operation for visual inspection. You want the completion of this standard
operation to be reported in all work orders that reference it. Identify the setup that will fulfill this requirement. 

A. Select the Automatically Transact check box while defining the Standard Operation. 

B. Deselect the Count Point check box while defining the Standard Operation. 

C. Select the Count Point check box while defining the Standard Operation. 

D. Ensure that the Charge Type of the resource is Automatic. 

Correct Answer: C 

 

QUESTION 13

Your customer has defined the work definitions. They have created and saved a new version for the work definition and
want to edit that work definition. Which two attributes cannot be updated using the Edit Work Definition Details action? 

A. State Date 

B. Costing Priority 

C. Version 

D. Production Priority 

Correct Answer: AC  

 

QUESTION 14

In a manufacturing plant, the work definition and rate plans of Material, Resource, and Overhead of an assembly have
been defined as required. A cost accountant created different scenarios to represent different manufacturing and cost
assumptions and compare the results. When the cost assumptions are finalized, the cost accountant is expected to
publish the cost scenario to cost accounting. Identify three process steps that the cost accountant has to perform to
transfer the assembly to cost accounting in frozen type. 
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A. Publish cost planning scenario to Accounting. 

B. Build cost planning scenario and perform cost roll up. 

C. Create Accounting Distributions. 

D. Transfer transactions from production to Costing. 

E. Define a cost planning scenario with Material, Resource, Overhead cost plans, and work definition. 

F. Transfer Transactions from Inventory to Costing. 

Correct Answer: CEF 

 

QUESTION 15

Work order costs are computed based on material and resource transactions reported and the cost method of the
product. In a manufacturing plant, the production operator has completed a work order WO001 ensuring proper
materials and resource transactions. The materials are costed and resources are defined with rates. A cost accountant
has created cost accounting distributions. Upon reviewing the accounting distributions of the work order WO-001,
resources charged to the work order are missing. Identify the Concurrent Request that needs to be submitted to transfer
resource charges to cost accounting. 

A. Create accounting 

B. Transfer Transactions from Production to Costing 

C. Transfer Transactions from Inventory to Costing 

D. Transfer Costs to Cost Management 

Correct Answer: B 
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